THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME
LEVEL -4

ASSIGNMENT TEST 2016

MACRO ECONOMICS -~ MCU2207

DURATION: TWO (02) HOURS

Date: 16.10.2016 Time: 2.00pm — 4.00pm

INSTRUCTIONS

Answer any two (02) questions.

All questions carry equal marks.

Use of non-programmable calculator is allowed.

Question No. 01

a) Using examples explain how the knowledge in relation to Macro-Economics helps a
manager in business decision making. (20 Marks)
b) Explain whether you ‘agree” or “disagree” with the following statements.
1 The higher the Marginal Propensity to Save (M.P.S) the higher is the expenditure
multiplier. '
il. As the number of sectors in the economy increases the value of the multiplier too
increases. (10 Marks)
c) Differentiate the following. Provide illustrations where possible.
i Consumption and Savings functions.
ii. Two sector and four sector circular flow of income.
iil. Gross Domestic Product (G.D.P) and Gross National Product (G.N.P.)
iv. Output approach and Income approach of calculating National Income.
(20 Marks)

Question No. 02

a) i. What are the major Macro Economic goals of a country? Explain.
ii. How could the government use fiscal and monetary policies to achieve the above
Macro goals? Explain with examples. (25 Marks)
b) Details of a three sector economy, given as; (figures in billions)

C=80+ bY4 (Consumption function)
I = 80 (Autonomous Investment)

M.P.S = 0.2 (Marginal Propensity to Save)
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ii.

iii.

iv.

V1.
vii.
viil.

Calculate the equilibrium level of National Income.
Find the expenditure and tax multipliers.

Suppose in addition to autonomous taxes, the government introduces 10% income
tax and 10 billion transfer payments (TR = 10), find the equilibrium level of
National Income.

Calculate the expenditure, tax and transfer multipliers.

Suppose the economy becomes open and the following changes take place;

Find the equilibrium level of national income

Calculate the expenditure, tax and transfer multipliers.

Why the exports are autonomous and imports are a function? Explain.

If the value of the domestic currency appreciates against the currencies of its
trading partners what is the impact of this on domestic exports and imports?
Explain. _ (25 Marks)

Question No. 03

a)

i.

ii.

Why is the ‘IS’ curve negatively slopped? Explain.
Why is the ‘LM’ curve positively slopped? Explain. (06 Marks)

b) Using IS/LM framework explain the impact of following changes on the rate of
interest and income of an economy. Use illustrations to explain your answer.

c)

d)

i.
ii.
iii.
iv.
V.

vi.

vii.

Government increased the expenditure on infrastructure development.
Average price level in the economy increased.

The Central Bank increased the reserve requirement of commercial banks.
Government increased the tax rate.

The Central Bank buy back the government bond and securities from the
public.

Commercial banks adopted a liberal credit policy.

The Central Bank increased the inter-bank lending rate.

(21 Marks)

Differentiate between “Partial Crowding Out Effect” and “Full Crowding Out Effect”
Use illustrations to explain your answer.

(10 Marks)
“In Liquidity Trap situation, Monetary Policies are more effective than Fiscal
Policies”. Do you agree? Explain using illustrations. (13 Marks)
-Right Reserved-
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